Chapter 5 Corporate Appraisal: Product/Service Portfolio Models
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1.
The Product Life Cycle
1.1
The classical product life cycle

1.1.1
The life cycle concept is a model, not a prediction, as not all products pass through each stage of the life cycle. It enables a firm to examine its portfolio of goods and services as a whole.
1.1.2
The product life cycle analysis is a technique used to plot the progress of a product through its life span. The model can be used to assess an individual firm's products (e.g. the iPod Classic), a type of product (e.g. CRT televisions) or an industry (e.g. movies).

1.1.3
The model can show between four and six stages. Here, we show four stages:

(a)
introduction

(b)
growth

(c)
maturity

(d)
decline.
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1.1.4
This cycle reflects changes in demand and the spread of technical knowledge among producers. Innovation creates the new industry, and this is normally product innovation. Later, innovation shifts to processes in order to maintain margins. The overall progress of the industry life cycle is illustrated below.

	
	Introduction
	Growth
	Maturity
	Decline

	Product characteristics
	Basic, no standards established
	Improved design and quality differentiated
	Standardised product with little differentiation
	Varied quality but fairly undifferentiated

	Competitors
	None to few
	Many entrants
	Competition increases, weaker players leave
	Few remain.

Competition may be on price.

	Buyers
	Early adopters, prosperous, curious must be induced
	More customers attracted and aware
	Mass market, brand switching common
	Enthusiasts, traditionalists, sophisticates

	Profits
	Negative – high first mover advantage
	Good, possibly starting to decline
	Eroding pressure of competition
	Variable

	Technology
	No standards established
	Technologies become more standardized
	Technology is understood across the industry
	Technology is understood across the industry

	Production process
	Small scale batch production.

Specialised distributors
	Mass production.

Distribution networks expanded
	Long production runs.

Cost efficiency critical
	Overcapacity.

Production is reduced.


1.1.5
The life cycle model has strategic implications for organizations operating in that industry. Management must pursue different strategies at each stage.

(a)
Introduction stage
· Attract trend-setting buyer groups by promotion of technical novelty or fashion.

· Price high (skim) to cash in on novelty, or price low (penetration) to gain adoption and high initial share.

· Support product despite poor current financial results.

· Review investment program periodically in light of success of launch (e.g. delay or bring forward capacity increases).

· Build channels of distribution

· Monitor success of rival technologies and competitor products

(b)
Growth stage
· Ensure capacity expands sufficiently to meet firm’s target market share objectives.

· Penetrate market, possibly by reducing price.

· Maintain barriers to entry (e.g. fight patent infringements, keep price competitive).

· High promotion of benefits to attract early majority of potential buyers.

· Build brand awareness to resist impact form new entrants.

· Ensure investors are aware of potential of new products to ensure support for financial strategy.

· Search for additional markets and product refinements (i.e. market penetration).

· Consider methods of expanding and reducing costs of production (e.g. contract manufacturing overseas, building own factory in a low cost location).

· Product development

(c)
Maturity stage
· Maximise current financial returns from product.

· Defend market position by matching to gain acceptance from non-buyers (e.g. new outlets or suggested new uses).

· Modify the product to make it cheaper or of greater benefit.

· Intensify distribution.

· Seek to extend growth by finding new markets or technologies
(d)
Decline stage
· Harvest cash flows by minimizing spending on promotion or product refinement.

· Simplify range by weeding out variations.

· Narrow distribution to target loyal customers and reduce stocking costs.

· Evaluate exit barriers and identify the optimum time to leave the industry.

· Seek potential exit strategy (e.g. sell the business).

· The response of competitors is particularly important – there may be threats as they attempt to defend their position, or opportunities, e.g. when a competitor leaves the market.
1.2
Cycle of competition

1.2.1
A cycle of competition is another concept for understanding the behaviour of competitors in a market.

1.2.2
When one company achieves some success in a market, competitors might try to do something even better in order to gain a competitive advantage. A new initiative by one company will result in a counter-measure from another company. Each company in the market tries to do something different and better.

1.2.3
A typical cycle of competition affects prices and quality. If one company has a large share of a profitable market, a rival company might start to sell its product at a lower price. Another rival company might improve the quality of its product, but sell it at the same price as rivals in the market. The first company might respond to these initiatives by its rivals by improving its product quality and reducing the selling price.
1.2.4
The effect of a cycle of competition in a growing market is that prices fall and quality might improve.
1.2.5
In the maturity phase of a product’s life cycle, or in the decline phase, it becomes more difficult to lower prices without reducing quality. Competitors might try to gain a bigger share of the market by selling at a lower price, but the product quality might be reduced. This can lead to a ‘spiral’ of falling prices and falling quality, to the point where the product is no longer profitable, and it is less attractive to customers.
1.2.6
The concept of the cycle of competition is useful for strategic analysis, because it can help to explain the strategies of companies in a market, and to assess what future initiatives by competitors might be.
2.
Boston Consulting Group Matrix (BCG matrix)

2.1
The Boston Consulting Group developed a product-market portfolio for strategic planning. It allows the strategic planners to select the optimal strategy for individual products or business units, whilst also ensuring that the selected strategies for individual units are consistent with the overall corporate objectives.
2.2
The objective of the matrix is to assist with the allocation of funds to different products or business units.
2.3
The matrix is a 2 × 2 matrix.

(a)
One side of the matrix represents the rate of market growth for a particular product or business unit.

(b)
The other side of the matrix represents the market share that is held by the product or business unit.
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2.4
Market growth. The mid-point of the growth side of the matrix is often set at 10% per year. If market growth is higher than this, it is ‘high’ and if annual growth is lower, it is ‘low’. It should be said that 10% is an arbitrary figure.
2.5
In the BCG matrix, market share is measured as annual sales for the product as a percentage or ratio of the annual sales of the biggest competitor in the market. The mid-point of this side of the matrix represents a situation where the sales for the firm’s product or business unit are equal to the annual sales of its biggest competitor. If a product or business unit is the market leader, it has a ‘high’ relative market share. If a product is not the market leader, its relative market share is ‘low’.
2.6
The individual products or business units of the firm can be plotted on the matrix as a circle. The size of the circle shows the relative money value of sales for the product. A large circle therefore represents a product with large annual sales.
2.7
Interpretation of the matrix.

The primary assumption of the BCG matrix is that the higher an organisation’s market share, the higher its profitability and the lower its costs due to economies of scale, the experience curve and improved bargaining power.
On this basis, products are placed into one of four subdivisions.

(a)
Cash cows – with a high relative market share in a low growth market and should be generating substantial cash inflows.
(b)
Stars – which have a high relative market share in a high growth market and may be in a later stage of their product life cycle. A star may be only cash neutral despite their strong position, as large amounts of cash may need to be spent to defend an organisation’s position against competitors. Stars represent the best future prospects.
(c)
Problem children or question marks – characterised by a low market share in a high growth market. Substantial net cash input is required to maintain or increase market share.
(d)
Dogs – with a low relative market share in a low growth market. Such a product tends to have a negative cash flow, that is likely to continue.
2.8
An organisation would want to have in a balanced portfolio:
(a)
cash cows of sufficient size and/or number that can support other products in the portfolio

(b)
stars of sufficient size and/or number which will provide sufficient cash generation when the current cash cows can no longer do so

(c)
problem child that have reasonable prospects of becoming future stars
(d)
no dogs or – if there are any – there would need to be good reasons for retaining them.
2.9
Strategic movement on the BCG matrix:

A product’s place in the matrix is not fixed for ever as the rate of growth of the market should be taken into account in determining strategy.
(a)
Stars tend to move vertically downwards as the market growth rate slows, to become cash cows.
(b)
The cash that they then generate can be used to turn problem children into stars, and eventually cash cows.
2.10
The ideal progression is illustrated below
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2.11
Using the BCG matrix:
	Categories
	Strategy

	Cash cow
	· Defend and maintain market share

· Spending on innovation (R&D) should be limited

· The cash generated by a cash cow can be used to develop other products in portfolio

	Stars
	· Stars are the cash cows of the future

· An entity should market a star product aggressively, to maintain or increase market share.

· A large continuing investment in new equipment and R&D will probably be needed.

· Stars should at some stage generate enough cash to be self sustaining. Until then, the cash from cash cows can finance their development.

	Problem children / question mark
	· The product will need a lot of new investment to increase market share. The strategic choice is between investing a lot of cash to boost market share or to disinvest/ abandon the product.

	Dog
	· These might generate some cash for the business, and if they do, it might be too early to abandon the product. The product has a limited future, and strategic decisions should focus on its short-term future.
· There is a danger that the product will use up cash if the firm chooses to spend money to preserve its market share.

· The firm should avoid risky investment aimed at trying to ‘turn the business round’.


	2.12
	Example 1

	
	A company produces five different products, and sells each product in a different market. The following information is available about market size and market share for each product. It consists of actual data for each of the last three years and forecasts for the next two years.
Year – 2

Last year

Year – 1

Current year

Next year

Year + 1

Year + 2

Actual

Actual

Actual

Forecast

Product 1

Total market size ($m)

50

58

65

75

84

Product 1 sales

2

2

2.5

3

3.5

Product 2

Total market size ($m)

150

152

149

153

154

Product 2 sales

78

77

80

82

82

Product 3

Total market size ($m)

40

50

60

70

80

Product 3 sales

3

5

8

10

12

Product 4

Total market size ($m)

60

61

61

61

60

Product 4 sales

2

2

2

2

2

Product 5

Total market size ($m)

100

112

125

140

150

Product 5 sales

4

5

5.5

6

6.5

In the current year, the market share of the market leader, or the nearest competitor to the company, has been estimated as follows:
Market share of market leader or the company’s nearest competitor

%

Product 1

37

Product 2

26

Product 3

12

Product 4

29

Product 5

20

Required:

(a)
Using the Boston Consulting Group model, how should each of these products be classified?

(b)
How might this analysis help the management of the company to make strategic decisions about its future products and markets (‘product‐market strategy’)?
Answer:

A star is a product in a market that is growing quickly, where the company’s product has a large market share or where the market share is increasing. Product 3 appears to be a star. The total market is expected to double in size between Year – 2 and Year + 2. The expected market share in two years’ time is 15%, compared with 7.5% in Year – 2. Its market share in the current year is over 13%, which makes it the current market leader.
A cash cow is a product in a market that has little or no growth. The market share, however, is normally quite high, and the product is therefore able to contribute substantially to operational cash flows. Product 2 appears to be a cash cow. In the current year its market share was over 53%, and it is the market leader.
A dog is a product in a market with no growth, and where the product has a low share of the market. Dogs are likely to be loss‐making and its cash flows are probably negative. Product 4 appears to be a dog. The total market size is not changing, and the market share for Product 4 is only about 3%. This is much less than the 29% market share of the market leader.
A question mark is a product with a fairly low market share in a market that is growing fairly quickly. Product 1 appears to be a question mark. The total market is growing quite quickly, but the market share of Product 1 is about 4% and this is not expected to change. Product 5 also appears to be a question mark, for the same reason.
The company should decide on its strategy for the products it will sell.

· It should benefit from the cash flows generated by its only cash cow, Product 2.

· It should invest in its star, Product 3, with the objective that this will eventually become a cash cow.

· It should give serious consideration to abandoning its dog, Product 4, and withdrawing from the market.

· It has to make a decision about its two question marks, Product 1 and Product 5. The main question is whether either of these products can become a star and cash cow. Additional investment and a change of strategy for these products might be necessary, in order to increase market share.
For all the products (with the exception of Product 4, if this is abandoned) the company should also consider ways of making the products more profitable. Techniques such as value chain analysis might help to identify cost savings.


3.
The General Electric Business Screen
3.1
The General Electric Business Screen (GEBS) or General Electric Matrix (GEM) is based on the enterprise's competitive capacity and the market's attractiveness. The approach of the GEBS is similar to that of the BCG matrix. The GEBS includes a broader range of company and market factors. A typical example is provided below.
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3.2
This matrix classifies businesses according to industry attractiveness and company strengths. The approach aims to consider a variety of factors that contribute to both these variables. The lists below are not complete: they are merely examples of relevant factors.
3.3
Business strength indicators:
· Good market share

· Good distribution

· Effective sales force

· Brand strength

· Strong marketing activity

· Financial strength

· Effective innovation

3.4
Market attractiveness

· The 'five forces'

· Overall profitability

· Overall size

· Growth rate

· Cyclicality

· Inflation rate

· General environmental issues
3.5
The broader approach of the GE matrix emphasises the attempt to match competencies within the company to conditions within the market place. Difficulties associated with measurement and classification mean that again the results of such an exercise must be interpreted with care.
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